Whi . )
ch I“d'?’m~Amencan woman astronaut

6.

Which of the following statements are

travelled into space in July, 20217 orrect about East Rajasthan Canal Project
A B p July, 1 cot
SirishaBandla  (B) Mamta Tripathi (ERCP)?
(C) Suman Dholkiya (P) Sunita Williams i) This project has been made for
Y @ B drinking water
) g — permanent solution to drinking
?ﬂ : 20;11?2;%, Rer 2 T ;:%iﬁa el problem of 13 districts of Eastern
(&) Rrfeer aree (8) s B Rajasthar: e
(C) v el :D; g fafrr=g (ii) It proposes to provide u'nff;itilon WZLtezr6
. L for 2.8 lakh hectares of land t rqug
X:tlcc::e(()il;e of the following is not correctly different large and med.ium prOJecrtts.f
(A) Arjun Lal Jat - Rowing (iii) Navnera Barrage is an integipeEe
(B) Devendra Jhajharia - Javelin throw this project. .
(C) Avani Lekhara - Weightlifting (iv) Prime Minister Narendra Mo.dl he;s
(D) Apurvi Chﬁe]a - Shootjng declared this project as a nationa
10 DOJNI0AA Full Apsweritey
(A) 3157 aTeT Wi — ABRE (A) (ii) and (iii) g
(B) 3 graiar — el B (B) (i), (if), (iii) and (iv)
(C) rafy ?ﬂm — YR (©) (i), (ii) and (iii)
(0) 3t =fecerm — freaTet : (D) (i) and (i)
Who wrote the booklet ‘Popa Bai ki Pol’? L
(A) Mathuradas Mathur it Jrorer e} aRareTr (ERCP) & ey |
(B) Aanandraj Surana Arfifad 3 A B A BAT T 87
(C) Bhanwarlal Saraf (i) TE GRErST gal ITeTRT & 13l &
() Jaynarayan Vyas Yarorer T @ R WA @ forg
qraaTs @ U TG gRawT v fored? o T 2 | : .
(A) FRTET AR (ii) 3% 26 fafr= a1 Td 7w aRATSHST
(B) SISt GRIOT & W W 2.8 A 2acA” A B RiEE
(C) RIS ATF & el ST A BT TEE 2 |
(D) SRIFRTA™ & (iii) FaRT RT3 GRS HT 1A= fEwar
Which Rammat artist presented the book . gl _
‘Swatantra Bawani’ to Mahatma Gandhi? (iv) e TR A | BT & A 59
(A) Tulsiram (B) Sua Maharaj RIS BT I gRASET Sifte fhar
(C) Phagu Maharaj (D) Tej Kavi 2
Jaisalmeri He—
e vHT BATBR T WEI Wl Bl W@ (A) (i) 7 (i)
FEh g e @ AR (B) (i), (ii), (iii) wd (iv)
(A) TR (B) 31T HERTSI (© (i), (ii) T (iii)
(C) BT FERTS (D) ToT Bfa ST (D) (i) wd (iii)
In which folk dance the musical instruments 7. Which volfanic resion i
. : e : gion is known as the vall
Daﬂdl,') Ghuraliyo, Khanjari and Pungi are of Ten Thousand Smokes? e
used? : ,
(A) Gair (B) Kalbeliya (2) L (B) Chimborazo
(C) Kachhi Ghodi (D) A fire dance (€) Katmai (D) Etna
forg @1d T 4 Swe, gufn, werd i BITA AT &7 39 §oR o a1 ardh
aft arer T SR fAT ST &7 P A A ST SAar 82
(A) R (B) FTorafer (A) Breriwi (B) Rrarrait
(C) =Y TSl (D) 3T eg (C) Pewg (D) we
106-D TT Page 2 of 16
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8.

©

10.

11.

Which one of the following (Temple - Place) 12. Match List-1 with List-Il and select the
is not matched correctly? correct answer with the help of code given
(R) Vibhishan Mandir - Kaithoon (Kota) below -
(B) Sundha Mata Mandir - Bhinmal (Jalore) List-I (National Park)
(C) Sirre Mandir - Jalore (i) Manas National Park
(D) Tripura Sundari Mata Mandir - Tilwara (if) Nagarhole National Park
(Banmer) (iii) Silent Valley National Park
A= iv) Wayanad Wildlife Sanctuary
s g ~ W) T ( )List)-,ll (Location)
R a) Karnataka
(AVRIT 2l e Eﬁ{q (Gﬁ?ﬂ) Eb)) Kerala
(B) TN IS A2 — afieyarer (oreiie) (&) Assan
(©) R R — srretie (d) Tamil Nadu
(D)Wwwﬁ—ﬁmﬂm(&r@@ Goiles
Bikaner, Jaisalmer. and Churu are included (A) (i)-(a), (ii)-(b), (iii)-(c), (iv)-(d)
in which Agro-climatic Zone of Rajasthan? (B) (i)-(b), (ii)-(d), (iii)-(a), (iv)-(c)
(A) Internal Drainage Dry Zone (©) (i)-(d), (ii)-(a), (iii)-(c), (iv)-(b)
(B) Arid Western Plain ®©) (i)-(c), (if)-(a), (iii)-(d), (iv)-(b)
(C) Hyper Arid Partial Irrigated
(D) Irrigated North-Western Plain -1 B gA-11 Al HiRg qon =y
. fag v ae # @ 9 S g -
AR, TR iR o IR D b -1 (s )
FR-TIARY I3wT /v F wfaferg 37 a *ﬁwm ‘
(R) St S9IE KT WS (i) TREE T Fe
(el bl (iii) wrgeie de WA SeH
() aft I SR R (iv) TS TSI IRV
(D) STt — ufdesl Riferd fem - [@Fﬁ
Sial, Sima and Nife are - @) S
(A) Volcanic topographies () P
(B) Layers of the Earth B (©) o
(C) Types of mountains -:_'2 (&) e
(D) Earthquake waves T .
Rrarer, <rr ok e € — (A (f)-(a). (i.i.)-(b)' (i.i.i.)-('C).'(i.V)-(d)
(B) (i)-(b), (i)-(d), (iii)-(a), (iv)-(c)
+ (A) o) el o Do) UL
©) ®-(d), (iD)-(a), (iii)-(c), (iv)-(b)
(®) 3t 2 e I L L DU, L
i ) (1)-(c), (iD)-(a), (iii)-(d), (iv)-(b)
(Sl 13. i ill lled in the
(D) 4@y T t : WhatlnsTh‘(;a(i of the village ca
Among the following V\;hlch of the ornamen (G;ri:(?w ribe? i
is not worn by women? . 16} et
(A) Memand (B) Morkha (C) Mukhi ate
. (D) Kandora
(©) Rakhdi ﬁﬁm%gﬁam‘ﬁmw
Pt % & @i @1 o Afei w2
T wger ST 27 (A) et (B) prcraret
(A) 35z (B) e (©) 7eh D) gt
(©) vy (D) BRI
Page 3 of 16
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14.

15.

16.

Which one among the following is not
correctly matched in reference to land
utilisation (2018-19)?

(A) Current fallow land - 5.22%

(B) Forest - 8,059

(©) Non Agriculture Area - 8.10%

(D) Net Area Sown - 51.85%

TSI # 4y Iy (2018-19) B Wi 4

DI Al T 2

(A) =1, T 4 & - 5.2204

(B) a7 &5 - 8,059

(©) a5fY &3 - 8.1004

(0 & R W & - 51.850

Which of the following statements are

correct?

() Potwar Plateay is located in Pakistan.

(i) Patagonian Plateau is situated at the
foothills of Andes Mountain.

(iii) Tibet Plateau is located between
Himalaya and Kunlun Mountain.

Code -

(A) (i), (i) and (iii)  (B) (i) and (i)

(© (i) and (iii) (D) only (iii)

ﬁwﬁrf@aﬁﬁﬁqéammﬁ%?

() 9EAR TR Wl § Rerg 2

(if) SeTfRT &1 woR vy vda & qomd
7 Rerg 8

(iii)%mamm%maquéﬁ
2t & e Rerg

e -
(A) (i), (ii) Td (i) (B) (i) w4 (ii)
(©) (i) v (iii) (D) B (iif)

Which among the following (Desert -
Country) is correctly matched?

(A) Nubian-Mexico

(B) Sonoran-Australia

(C) Chihuahuan-China

(D) Atacama-Chile

B 5 R B (v — 29) w9 gifm
g7

(A) T — Hfdge

(B) TR — 3iferar

(C) fergamgam — 9

(D) srerepraT — fereht

17. Who called the Britishers ‘Mulk Ra Methad
thug'? .

r: (A) Nathusingh Mahiyariya

¢ (B) Shankardan Samore

:E}f(C) Kesari Singh Barhath

‘j{ (D) Bankidas

£ ittt @ e <1 Ao T R FE?
() i wfRaREr W ~

. (B) ZichRaT AR A gf.%

I (©) dwd Rig aree 7

< (D) afeteT ¥
18! ‘Nimadi and Ragadi’ are sub-dilects of which
',;:I‘dilect?

‘&Sfj(A) Mewati (B) Hadoti

7 (6) Marwari (D) Malvi

e PR O <Y for e ) S—aferdt 82

L= (A) arch (B) TSR

(] 3

I (C) ARarEy (D) AreTdt
19 Where does Kesariyaiji fair take place?
Zg(l\) Parbatsar (B) Kiradu

<2 (C) Jhalarapatan (D) Dhulev

e,

DRI BT ¥ Bt HRay 27
P ; :
i (A) TRETR # (B) farvrg #

O(C) FrermITeT # (D) g %
O+ Which one of the following (National
;dnGeological monument - Site) s correctly
(O matched?
E(A) Great Boundary Fault - Satyr (Bundi)

(B) Sendra Granite - Pokaran (]aisalmer)

(C) Akal Wood Fossil Park - Mandore

2

(Jodhpur)
(D) Stromatolite Fossi] Park - Talwara
(Banswara)
frefefad % 3 @ (T ey IR
— ) w8 gAfer 27

(A) & W o - R (G
(B)Wﬁ?@e‘—m(mﬁq)
(C)WFWW—W(W)
O Frede v e SToTaTST
(atsareT) '

106-D 11
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21. ‘Spring Tide’ occurs on -

(A) Only Full Moon

(B) Only New Moon

(C) Both Full Moon and New Moon
(D) Neither Full Moon nor New Moon

e TR A ¥ —

(A) BT R %
(B) BT IR ) %
(©) gt SR SRy @Y oy i

(D)?{?ﬁt;ﬁmﬁmammﬁ

~J

e o

26.

27.

The petroleum producing area in the

Rajasthan is spread over how many
districts?

(A) 14 (B) 16

©9 (D) 12

R # IR IcuTe & faa forell
3t gorm &7

(A) 14 (B) 16

©9 (D) 12

Which among the following is. correctly
matched?.

(i) Khejarli Movement - Amrita Devi

(ii) Chipko Movement - Gaura Devi

22. The writer of the book “Stargazing : Th‘E. (iii) Appiko Movement - Karnataka
Players in My Life” is - < Code -
(A) Sunil Gavaskar  (B) Virat Kohli E-: (A) (i) and (“) (B) o'n]y“(i)
(C) Sachin Tendulkar (D) Ravi Shastri — © ) and (iii) (D) (i), (ii) and (iii)
' , =1 7 & Fiar wd gafera 82
?zwﬁﬁrm__ :a@uﬁsﬁ%‘m"wﬁ\- (i) WSTgen SAfRTAT — e TG
D § — = (if) forvapt srfeYer — iRt 2@
(A) W IR (B) m ﬂﬁ%‘{»ﬁ ~\:r (m)\'ﬂff}ﬂﬁ W — dAlCh
1wt 3 Full Ans
w oo sEmy owiiload Full wer Key .
* Which folk déity is celebrated in Terahtali, (©) (i) T (iii) (D) (i), (i) T2 (iii)
dance? & | 28 National Education Policy 2020 aims to
(A) Ramdevii (B) Tejaji achieve 100% Gross Enrolment Ratio in
(C) Pabuji (D) Devnarayanji school education by -
P (A) 2035 (B) 2025
5 e i frg S 1 79 l\:‘ (C) 2040 (D) 2030
foar s &2 , g m@uﬁrmﬁﬁzozoﬁﬁam&mﬁ
(A) T (B) Frorraht — éOO%WWWWWWaw
(C) Trgsit O) SERmERy .
i ) W () 2035 T (B) 2025 T&
24. Which one (ornament - body part) is nato (©) 2040 T )
matched correctly? | 2 What is the rank of Indj '2030 o i
(A) Mundari - Finger (B) Tadda - Arm o 20217 311 Tokyo Olympics,
(€) Ramjhol - Waist (D) Nevri - Feet P (A) 48t (B) 25th
I o (©) 10t (D) 40t
. ' <t -
DI (g — of) fere T &7 e AT, 2021 9 e v e
(A) H&r — 3felt (B) TS=T - 415] ;; WWW%‘?
©) e — dR (D) 999 — i) <o) (2) 48aj (B) 254t
25 Where is the ‘Moosi Rani ki Chhatri’locatecf:l?,: 30 iN)hl(:n £ the foll (®) 40qf
. ic ing i
®) Jaisalmer (B) Alwar parkin(])aipuf-? ollowing is the first desert
(€) Udaipur (D) Jodhpur -(A) Kishan Bagh (B) Hari Bagh
(C) Ram Bagh (D) Laxman Bagh
T < WB st 3 & PITR SRIG BT ot St s 97
(R) SR (B) areraR (A) foper am (B) &R @y
©) IqTgR (D) SigR (C) M 9m (D) FeFor qray
106-D 11 Page 5 of 16
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3. Recently the large deposits of uranium have

found in Rajasthan at -

(A) Anandpur Bhukia (B) Saladipur (Sikar)
(Banswara)

(C) Amet (Udaipur) (D) Rohil (Sikar)

BT 8 H IR § RPRM B 78 UeR T
™ ¥ -

(A) (B) GlER)
W)*ﬁm AR (

CISEIR
©3mie serge) (o) v (@)
32 Pushkar lake js surrounded by how many
Ghats?
(A) 42 (®) 46
© 58 () 52
TR e fbery ey 9 fordy ®7
(A) 42 (B) 46
©) 58 () 52

33. KAZIND-21 s a joint training exercise
between which countries?
(A) India-Usa (B) India-Maldives
(©) India-Russia (D) India-Kazakhstan

W—mwmnﬁmmﬁm

< B gRT fvar
(R) RG—3rRe®y (B) TRA—1e g
(©) aRa—wy (D) IRI—Bonfrem

34- When did the Mangarh Massacre happen?
(A) 17 November, (B) 13th October,
1913 1913

(C) 21st January, 1914 (D) 234 March, 1914

ATTTG TREAER &g Gl a1?
(A) 17 FxR, 1913 (B) 13 arear, 1913
(©) 21 S99, 1914 (D) 23 =, 1914
35. Who were the leader of the Rebellion of
1857 in Kota?
(A) Shravan Singh and Jaiveer
(B) Magbool Khan and Bakhta Singh
(€) Ram Singh and Takhta Singh
(D) Jai Dayal and Mehrab Khan

1857 % fAgGIE &1 Pler # wge fbae fa
o1?

(A) srgur RiE 3R TIER

(B) 7hqer @ 3R Tt Rig

(©) v Rig iR o g

(D) SRreaTel R HERIE i

36. Where is the Institute of Tropical Medicine
and Virology being set up?

(A) Udaipur (B) Alwar

(©) Jodhpur (D) Jaipur

geeye sifp giteea AR va gl
Rl 1T by S er 82

(A) TR (B) 31e1aR

©) Gﬁﬂgv (D) STIgR

37. Match the following -
List - I (Branch of Ramsnehi sect)
(1) Shahpura
(2) Sinhthal
(3) Khedapa
(4) Ren
List - II (Establisher)
(i) Saint Hariram Das ji
(i) Saint Ramdas ji
(iii) Saint Dariyav ji
(iv) Saint Ram Charan ji
Code - ‘
A (1)-(ii), (2)-(iii), (3)-(iv), (4)-(i)
®) (1)-(iv), (2)-(i), (3)-(ii), (4)-(i)
©) (1)-(iv), (2)-(i), (3)-(ii), (4)-(iii)
®) (1)-(1), (2)-(ii), (3)-(ii), (4)-(iv)

=1 37 gaferr #ife —

¥ —1 R wwrer @ )
(1) wmegRr
(2) Rigera
(3) e
@) o

A~ 1l (Rt
(1) - BRvm ey ofy ) !
(ii) ¥ <R oy §§
(iii) ¥ TRamg o ;
(iv) S IR oY
9 =
(A) (1)-(ib), (2)-(ii), (3)-(iv), (4)-(i)
(B) (1)-(iv), (2)-(i), (3)-(iii), (4)-(ii)
© ()-(iv), (2)-(i), (3)-(i), (4)-(iii)
(©) (1)-(i), (2)-(ii), (3)-(ii), (4)-(iv)

38. What is ‘Palan”?

(A) A folk musical instrument
(B) The seat to be placed on the horse
(C) The seat to be placed on the camel
(D) Synonym of Gorband

TATT T &P

(A) T& p qr g

(B) €18 R I T areht HroY
(€) IT R T IF areh Frdl
(D) TR BT RS} v

106-D 11
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39. For which fort Col. James Tod said, “If he is

40.

offered a Jagir in Rajasthan, he will choose
this fort”?

(A) Chittorgarh
(B) Bhainsrorgarh
(C) Nahargarh
(D) Ranthambhor

. me B fO i Sy e Y oy o e
S IR H T& Wiy o) derper 49 S,
dl 98 $9 T B FHR-

(A) RrdsTe

(B) FRreTg

(C) T8RS

(D) vk

‘Elder line’, the first Pan-India toll-free

helpline number for senior citizen is -
(R) 12468

(B) 12345
(©) 10987 R
(D) 14567

el IRIA WRA™ Q- aRs TR
%mmﬁ‘qmq'mfmé—

(A) 12468
(B) 12345
(C) 10987
(D) 14567
41. Find the missing number -
7
63
2| 14 ? |9
30
15
(A) 81 (B) 54
(©) 145 (D) 135
@ |=& | P —
7
63
2| 14 ? 19
30
15
(A) 81 (B) 54
(C) 145 (D) 135
106-D 11

42,

43.

Page 7 of 16

From the original position given 1n belOt‘i‘l’
figure, points A and B move one arm leng p
clockwise and then cross over to the corné

diagonally opposite, C and D move one alim
length anti-clockwise and cross OVef” .t “;
corner diagonally opposite. The originad

setting ADBC has now changed to -

C, A

E

N+}S
W

(B) CDAB
(D) BCAD

Hra fag v fora 7 uRfYe Reafy 91, A @ik B
U6 gl @ gl SReTEd ged § R a9
fmda fagela: ((R8) &= & ok oy €
C 3R D U Y511 arrad gerd & 3R aa feda
fagic: (fve) 1 @) 3R Tdwd €1 ADBC
@ uRfvs Rerfe s aRaffa g8 @ —

E

(A) DCAB
(C) CBDA

N N
B L D
(A) DCAB (B) CDAB
(C) CBDA (D) BCAD

In a survey of 25 students, it was found
that 15 had taken Mathematics, 12 had taken
Physics and 11had taken Chemistry, 5 had
taken Mathematics and Chemistry, 9 had taken
Mathematics and Physics, 4 had taken Physics
and Chemistry and 3 had taken all the three
subjects. Find the number of students who had

taken both Physics and Chemistry but not
Mathematics,

(A) 5

(®) 1
©) 4

(D) 2

ﬁﬁmmﬁﬁﬁrvﬁmﬁmw
(A) 5 (B) 1
(C) 4 (D) 2




44,

45.
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s\

tooe

If 20-10 meéans 200, 8+4 means 12, 6x2
means 4 and 20+5 means 4, then
100-10x10005-1000+100x10=?

(A) 1910 127 (B0

©) 10 i (D) 1090

e 20-10 SR 200, 824 BT AR
12, 6x2 BT Afury 42 aiR 2045 @7 MU
4%, @
100-10x1000+1000+100x10=?
(A) 1910 (B) 0
©) 10 e (D) 1090
Here, a statement is followed by three
aSSllmptionsn:umbered I, ITand I11. You have
to consider the statement and the following
assumptions,, decide which of the
assumption fassumptions is/are implicit in
the statemelid and choose your answer
accordingly.~—

Statement : “Do not lean out of the moving
train.” - A warning in the
railway compartment.

Assumptions=: . Leaning out of a moving

~  trainis dangerous.

:\:j‘ II. Such warning will have
=f~ some effect.

<IIL Itis the duty of railway
= authorities to take care
© of passengers’ safety.
= !

(A) Only assumptions I and II are implicit.

(B) Only assumptions I and I1I are implicit.

(C) Assumptions I, Il and Il all are implicit.

(D) Only assumptions Il and Il are implicit.

78T, Uh FdT P uTa & qdewong I, 11
I 111 & 258 | IPT P au geEmEdr
ﬁaﬁ;@mﬁwﬁ‘g’qﬁvﬁm%
fob YT QIR / qeRoNG e & iR
g /8 A SUD IATHY AT TR G |
For ¢ “TAAIES YeITEl H AR BT 3R A
7 2 Yo @ R 3 v |
YT TRATD 2 |
|l.s§mﬁ%{m—rﬁmw3ﬁm
I
I1l. Y19 & ARBIRGT &7 97 <
& fo ot o grem @1 wam
T WY |
A) Bael gargar 18R I srafifd &1
:B;mgaﬁrrmlsﬁvnm?fﬁ‘r%a?l
(©) 1, 11 3R 1197 T Seififea 2

(D) det Q@AM 13RI srafifRa 2

HS

‘1._-\:

v g

46.

47.

48.

n, there are four

In the following questio o

choices of words with their letters jum s
up. Three of them are alike and one 1
different. Find the odd one out -
(A)RPOUEE (B) CARFAI
(C)AAIS (D) ITADN

frfefad g 3wl @ O A ST
SeR} B See—Tere o Ry T & | F 3
A T UBR A FAE E 3R U Al T EiE
21 ave @1 wifey -

(A)RPOUEE (B) CARFAI
(C)AAIS (D) ITADN

In a certain code, ‘DELHI’ is written as
‘CDKGH’ and ‘MADRAS’ as ‘LZCQZR’, then
how will ‘PATNA’ be coded?

(A) 0ZMSZ (B) 0ZTMZ

(C) 0ZSTM (D) 0ZSMZ

UF e Wr # DELHI' & ‘CDKGH’ forar
ST 8 3iR ‘MADRAS' & ‘LZCQZR’ forear e
8, A1 ‘PATNA’ & Goba T 92T 2Fi?

(A) 0ZMSZ (B) 0ZTMZ

(C) 0ZSTM (D) 0ZSMZ

Here, three different views of a cube are
given. Based on these diagrams answer the

question given below :
b e AV
(i) (ii) (iii)
Which of the following indicates t
pair of opposite faces?
(A)a-d B)d-f
©f-e @ b-gq

he correct

aﬁ,waﬂaﬁ’mm—mqwﬁqgl

sﬂﬁaﬁwmﬁﬁﬁwmmmw,
)LD [
a Cc
(i) s (ii) (iii)
ot % 9 BT R8T woret oy o
qrer e g 8 Sﬁﬁm
(A)a-d B)d-f
©€)f-e D b-q

‘Page 8 of 16
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49. [pafamily of six members P, Q, R, S, X and Y. 52. The total number of eight digit numbers, in
Ris Stlste; (:;Y Q f’SPbFOEjhEF of X’s husband which have all digits are different, is -
S is the father of P and grandfather of Y.
l A B
There are two fathers, three brothers and af = " 9Lg . g‘gi
mother in this family. How many male . <]
members in the family? r! Ly ﬁ @l
(A) 4 (B) Can’t predict :,1 )
© 5 (D) 3 3 N S ‘
= TS 3f) arell G, R T o =T &),
B W a1 U6 IRAR # P, Q, R, S, X A1 @ gl A T -
Y|RYa%a3?%|sz%q%mms‘%|' () 9|9 (8) 9|9
SPWW@YWW?IWMﬁﬁ(_ 2
ﬁméﬁﬁédquﬁmﬁmﬁﬁrﬁ ©) 9|9 D) |9
oY FE 87 4
(A) 4 B
o ((D; ST e R W 53. A man is known to speak truth 3 out of 4
& A 3 ‘-E times. He throws a die and reports that it is
- In the given figure, number of triangles is ™ : i o ;
—— a six. The probability that it is actually a six
. is -
™ (A) 1 (B) 5 o:
ff_'; 8 8 E‘E
dq o 0 3
= 3 8
i e ! .
(A) 24 (B) 28 & AR INRATAR Faw4d3 3
© 22 0 26 = IR W AT ¥ | 98 TF TR BV SOTT ¥
fog T fors 4, gt 1 TrE R & — {\ IR Faawm § 5 9w W oam arel |
i 6 8| 3G WG M9 Y fF 9 w®
{ AT ATel AT IR F 6 ¥ —
= (A) L (B) 5
= i s
L
P ©1 (D) 3
F e 3 g
A B
EC; ;; ED; ii 54. Average of 11 results is 55, if the average of
3 first six Its i
51 1f = [b|=1¢| and @ +b=¢ then angle : results is 52 and the average of last
I ) sixresults is 57, then the sixth result is -
between3 andb is - (A) 48 (B)
(A) 2 ® 2 © ”
i 4 50 (D) 49
(C)g (D) xt
} ) 11 R 31 s 558, AR wem W
e [3) = [b| = Ic| @on d+b=E T & WD TR 1 SR 52 9k it B aRoT
@ 49 @1 BT T - - @1 T 57 B, o wor uRom @ —
A) 2 B) I
( )?n ( )4 (A) 48 (B) 42
©r OF © 50 (D) 49
106-D) 11 Page 9 of 16



55. A bag contains coins of Rs. 2, Rs. 1 and 50
paisa in the ratio 6:7:15 respectively. If the
total amount in the bagis Rs. 1590, then the
number of 50 pajsa coins in the bag is -

(A) 700 (B) 800

(©) 600 ) 900

P AN 2 v, 19 6k 50 4% B R
PR 6:7:15 F orga ¥ &) o o ¥ g
T 1590 ¥ 8, o e § 50 49 B Ryawy
B i R

(A) 700

(B) 800

© 600 (0) 900

56- The equation of the curve passing through
(1,0)and satisfying the differential equation
(1+y?) dx - xydy = 0 is -
(A)x2+y2=1 (B) x2-y2=1
©) y2=4x (D) 2x2 +y2=2
wwwmvﬁﬁg(l,omw
8 AT AT FHGRoT (1+y?) dx-xydy =0
BT HIT BT B, BT —
(A)x2+y2=1 (B) x2-y2=1
(©) y2=4x (D) 2x2+y2=2

57. The maximum value of
5cose+3cos(9+§)+3is- Eﬁ
(A) 15 (8) 11
(€8 (D) 10

s

5c059+3cos(9+ §)+325THE?P1 q9 ® —
(A) 15 (B) 11
© s (D) 10

58. If323 = ;7,1—_4. then value of x is -
Ao (B) 2
©)3 (D) 1
afy 32x-3 = 27i_4,ﬁx$T‘TF-I%—
® 0 ® 2
© 3 1

106-D 11

59.

60.

61.

62.

4 =6.
Letf: R — Rsuch that f(1) =3 and f 1
1

LAk
Chen; !('l’&[ )
(A) e1/2 (B) e3
(C) e2 (D) 1
T F:R > R ER & 5 (1) =33
1

. [ +x)]x _
F(1)=6'ml’l%'[ 1
(A) e1/2 (B) e3
(C) e2 (D) 1

Ifin a triangle ABC, AD is bisector ofangle A,
AB=8cm,AC=10cmand BC = 13.5 cm, then
the value of BD is -
(A)5cm ’
(©)9cm

(B) 6 cm
(D) 4 cm

e faell frgst ABC &, @ior A o7 FAfEHISTS
AD 8 AB =8 ¥#, AC = 10 ¥#. T
BC=13.5 9. 2, ' BD &1 a9 & —

(A) 574, (B) 614N

(C) 97, (D) 4=+,

In which of the following Legislative
Assembly-election, the number of members
of the Rajasthan Legislative Assembly was
increased from 184 to 200?

(A) Second Assembly Election

(B) Fourth Assembly Election

(C) Sixth Assembly Election

(D) None of the above

= 4 ¥ B R T ¥, IroRen
foerenTT & wawdl @ wem 184 9 IITHR
200 R < T ofr?

(A) e faerren gamg &

(B) =itey faerrrey e

(C) B3 faermr=m uickl

(D) SRFT # q PIE G

Balwant Rai Mehta Committee is relateq to -
(A) State Administration

(B) Revenue Reform

(C) Centre State Relations

(D) Local Self Governance

qordd g Aedl Afa B gdy ¥ —
(A) 59 gema

(B) RIS R

(C) B WTST e

(D) I @A

Page 10 of 16



63. |n which part of Indian Constitution the

union and the states administrative

relations are mentioned?
(A) Part-XI, Chapter-I1
(B) Part-XIX, Chapter-I]
(C) Part-XI, Chapter-I1]
(D) Part-XI, Chapter-|

AR WA & DR 5w < vd o

@ gD Ha aftfg §?

(R) 9FT-11, IARI—2 _—

(B) ¥MT-19, 3IEATI—2

(C) 9mT-11, 3IregTg—3

(D) 9FT-11, IF™@-1

64. Which of the following (Articles -

Provisions) pair is incorrect?

(A) Afticle 161 - Power of Governor to grant
pardon

(B) Article 167 - Duties of Chief Minister

(C) Article 213 - Power of Governor to
promulgate ordinances

(D) Article 165 - Special address by the

governor

et % & P (srpeee — TawT) g e
¥

(A) 37w 161 - XToaUTer BN ETHIET B T

(B) e 167 - el & Fod

© sz 213 - oY WG TR B
RS GGG

) arpee 165-@%@_&%&9@‘“@“

65.

66.

67.

Which is

following?

(A) Chief Minister appoints Parliamentary
Secretary and administer oath of office.

(B) Parliamentary Secretaries are appointed
to assist Ministers.

(C) State governments have been appointing
Parliamentary Secretaries from among
MLAs.

(D) The Third Schedule contains the form of
oath or affirmation for Parliamentary
Secretaries.

incorrect statement in the

for=t & 4 BT HUA TAT 27

(A) qar dudr afa @ fgfad e §
AR ue @1 T e &)

(B) w3t @ werIaT & fov wodn w6
frgfaa & S 21

(©) wvu WRaR femael § ¥ Wik afid
@ fgfaa o= <& €

(D) TR St # wad Afat & o wger
1 9= &1 Uy e 2| _

Which of the following statement is

incorrect about Lokayukta in Rajasthan?

(R) He considers the cases of corruption and
mal-administration.

(B) His job is to investigate grievances.

(C) He is appointed by chiefjustice.

(D) First lokayukta was appointed in 1973.
ORI NP & Wy § Prafafag
W DI FU T 27

(A) 98 TTIR Ud B @ wet w RER
PRAT 2|

(B) ST 3T frrat 9 wirer e 2|
(C)agﬁmmwmgmﬁwmgl
(D)quqmrgaa1973ﬁﬁfgaaﬁ;mw1

Where is the Cantonment Boarq established

.in Rajasthan?

(A) Chittorgarh

(B) Beawar
(C) Nasirabag

(D) Bhiwadi

106-D 11

(A)f%l.?ﬁSTIE - (B) 2y
©) TiRare (D) fyare)
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68. Whose responsibility is to get the survey of
those living below the poverty line?

(A) District Supply Officer (DS0)
(B) Statistics Officer )

(©) Sub Divisional Officer (SDO)
(B) Block Development Officer (BDO)

TR X N A e ar g
STV FRAT RTepT iy 27
(A) R e sty (S1gwan)

(B) HiRerasY arfdyerdy

(©) SuEvE Sty (Ta.Sram)

(D) wvs e afer) @ram)

Which of the following subject is not listed

in the 11th schequle of Indian Constitution?
(A) Kanji House

(B) Animal Husbandry

(©) Poverty Eradication Programme
(D)‘Minor Forest Product

69.

F=feRad 3 ¥ o fw g @ e
B 118 T § e w9 22
() BT gToH
(B) wgqurer= :
(C) TR S~ BRIwHH
(D) &Y T S
70. When did Rajasthan Lokayukta and

Up-Lokayukta Act receive the assent of the
President?

(A) 1983
(©) 1973

(B) 1977
(D) 1985

ISR S 3R Suciege sfifem
BT U B FPHRY B et gg?

(A) 1983 (B) 1977

(C) 1973 (D) 1985

Which of the following is a valid set of High
Level Languages?

() {Java, Anaconda, Snowflake}

(B) {COBOL, PNG, LIST}

(C) {C#, LPG, Python}

(D) {RPG, LISP, SNOBOL}

71.

= # 9 o sE—due-daw @1
Sfa ag 872

(R) {Java, Anaconda, Snowflake}

(B) {COBOL, PNG, LIST}

(©) {C#, LPG, Python)

() {RPG, LISP, SNOBOL}

72. In context of MS pPowerPoint Presentatio'r},
the valid ordered pair to fill in the blanks is-
A printout of .eueees is strictly for the ........ .
(A) notes, audience
(B) hand-outs, speaker
(C) notes, speaker

(D) outlines, audience

T, R g woree @ | H, Raa
- e B WA B forg Sfud wifd I § -
@ frg & B

& () e, s

" (B) ¥s—arwew, aad E‘é

i (O \ires, aam

I~ (D) aTSeaEY, shawTo

73‘} Compact Disk-Recordable (CD-R) s
R A

(”“h (R) Write, erase, re-write disk
< (B) Semi-conductor disk
(C) Read only disk

(D) Write Once Read Many (WORM) disk

o T Ro—Retsaa (CD-R)
o AT, ¥, A1 R
 (B) W—Feaer R

«© (C) 35 3ol v

— (D) T T D AR (WORM) s

If you want to enter current date in an MS
;“‘“"‘ Excel cell, then you can use -

.2 (A) Shift +, (Comma)

<t (B) Shift + Alt + D :

< (© Alt+. (Dot

0 . (Semi

:f} (D) Ctrl +; (Semicolon)
uﬁmwwwﬁaﬁaﬁmaﬁﬁv@
UfAs BT AR ¥, Y M9 Sy A ¥y —
(A) Shift +, ()

(B) Shift + Alt+ D

(©) Alt +. (Sfe)

() Ctrl + ; (fiapTer)

106-D 11
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76.

75. The communication order of /0 system is -
(A) Device Controllers «> Device Drivers <

1/0 Devices <> 0S P

(B) 1/0 Devices <> OS <> Device Drivers <—>—_E

Device Controllers :

14

(C) 0S < Device Controllers < Device:j_
Drivers <> 1/0 Devices

(D) 0S < Device Drivers <> Device.
Controllers <> 1/0 Devices

yEL

I8}

C

1/0 Riecd BT HaR 3w ¥ —

(B) 1/0 IS8 « 05 o farew grgaR eg;«\;
féarga Bgrer bt

©) 08 & f3ITT PR © s gER ©
1/0 fars<iey

—

v |
Which file is responsible to start MS Word? -

(A) windword.exe \:‘é
(B) wordwin.exe (=
(C) word.exe &'g o
(D) win.exe P~
W.W.aéaﬁgﬁaﬂfra?f%maﬁmﬁm;

SR 87

(A) windword.exe
(B) wordwin.exe
() word.exe

106414

(D) win.exe

77 1BM 1401 is -

(A) Fourth Generation Computer
(B) Third Generation Computer
(©) First Generation Computer
(®) Second Generation Computer

IBM 140128 —

) Tgef iy ragex
®) Tl @y pragex
©) wors Gy e
D) fgdry G e

78.

79.

80.

(A) Tad 1

Which of the following is false?

(A) In TCP/IP model, internet layer is closest
to the user.

(B) TCP avoids network saturation,

(€) TCP enable dataflow for monitoring.

(D) TCP makes communication between
server and client.

=1 % 9 e oy 82

(A) TCP/IP WS ¥, §eXT AR SUANTHAT
B w2

(B) TCP Wead WIRNHRT B TTeram & |

(©) #ffefr & fag TCP ST ware wem
AT 2|

(D) TCP ¥R iR FoTg< & Ao HAR g7
gl

Consider following statements :

I: Aproxy firewall filters at the application
layer.

I : A packet-filter firewall filters at the
network or transport layer.

Which of the above statements is/are true?

(A) Only I (B) Only I
(C) Both I and II (D) Neither I norII
7 Pl W AR ¥ —

I: T UIRT BRRETT TS ok O)
fheer o=l 2 '

II: T Yde—fhoer BRRdTe Seaas iR
FIRUIE R W ey aed) 2

Wmﬁﬁﬁaﬁ?ﬁmmﬂﬁé/%?

(B) ®aer 11

©) I T I €1 @aa 1w 1

When was the world’s first Laptop computer
introduced in the market anq by whom?

(A) Tandy Model-200, 1985

(B) Epson, 1981

(C) Laplink Traveling Software Inc, 1982
(D) Hewlett-Packard, 1980

9T 1 wom ety By ok R
BN 6E ¥ R oy ey oa7?

A Tandy Model-200, 1985

(B) Epson, 1981

(©) Laplink Traveling Software Inc, 1982
(D) Hewlett-PaCkard, 1980

106-D 11
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81.

82.

83.

84.

106-D 11

Fill in the blank with the correct option :
A speech given without preparation is

(A) Extempore

(B) Exhortation

(C) Rhetorical

(D) Urge

Choose the correct option that expresses the
meaning of the underlined idiom :
Smugglers tried to fish in_the troubled
Wwaters during World War II.

(A) to take double benefit

(B) to work hard to survive

(©) try to destroy thie enemy

(D) to take advantage from a chaotic

situation

Match the words given in column (A) with
their antonyms listed in column (B) -
(A) Words

(a) Approximately

(b) Precisely

(c) Accurately

(d) Conspicuously

(B) Antonyms

(i) Questionably

(ii) Invisibly -

(iii) Exactly

(iv) Roughly

(A) a-(ii), b-(iii), c-(iv), d-(i)
(B) a-(iv), b-(iii), c-(i), d-(ii)
(C) a-(iii), b-(iv), c-(i), d-(ii)
(D) a-(ii), b-(iv), c-(i), d-(iii)

Out of the following proverbs, which one is

b

correctly framed or does not have any error
in its form?

(A) Don’t judge a book by their cover

(B) Cleanliness is next to Godliness

(C) A apple a day keeps the doctor away

(D) Where their’s a will, their's a way

85.

86.

87.

88.

89.

90.

Match the parts of sentences lisFed '?n
Column (A) with those of the ones given in
Column (B) so as to frame appropriately
meaningful sentences -

Column (A)
(a) Unless you work hard......
(b) If you were rich.......
(c) The boy who stood first........
(d) We reached the station.........

Column (B)
(i) .....you would probably spend much.
(L) . got the prize.
(iii) .........before the train arrived.
(iv) .ooo....you will fail.

(A) a-(ii), b-(i), c-(iv), d-(iii)

(B) a-(iv), b-(i), c-(ii), d-(iii)

(C) a-(ifi), b-(ii), c-(iv), d-(i)

(D) a-(ii), b-(iii), c-(iv), d-(i)

Select the appropriate phrasal verb from the
given options to fill the blank space and
complete the sentence -

“Ten candidates
interview.”

(A) turned up
(C) turned over

for the

(B) turned down

(D) turned out

The sentence: “Where did you buy this pen

from?” (will be read in passive voice as)-

(A) From where was this pen bought by you?

(B) From where is the pen bought by you?

(C) From where has the pen been bought by
you?

(D) From where had the pen been bought by
you?

Choose the correct option -

He said, “Give me some food, please.”

(Change into Indirect Speech)

(A) He requested me to give him some food

(B) He told me to give him food, please. .

(C) He said to me that give him food, please

(D) He requested me that give me some fooc{

Fill in the blank with the .

‘preposition - i
Mr.  Mohan divided his property
wrevennenennnnnnn s four sons equally.

(A) for (B) in

(C) between (D) among

Fill in the blank with the correct
conjunction:

He commands me ... he were my
boss.

(A) however (B) as if

(C) but (D) as

Page 14 of 16
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91.

92.

93.

94,

95.

e % 3 5 fAdes & i T argg &2
(A) -SRI, Srefie, fn

(B) TTEN. S, s

(0) G, TR, geralapvoT

(0) TS, BB, GRARRAT

T R T I 1 e 7 27
(A) FOTHHA, BPR—TeeR

(B) WeTEY, U=

(C) FAHREAS, AT

(D) ehreT-gd, SRrTfa

wiEr ST B Je ¥ s g gy —
(A)Wﬁ,aﬁvﬁ,a—gwf:fm

(B) UreTeRd, S, Faiq — qoRm

(©) R, T e — A

(0) wfererer, ef=fY, amig — wHg

FiTa e g a1ef @ gfe | wwa e 87
(A) Hort — AR = Bive, TR

®) aRF — TR = AR, A T U
© e — aifs = @rdy, =l e

() fremger — foremg = g, Sl

T TN o g Tl S AT BT
St et 3 '
(A)mmmm

®) P & v e

© v 2w 3w gar @1 g o

©) Sz @ e

96.

97.

98.

99.

aref &Y gfie & IR HETR BT T BRI

(A) T T BT — e ofis 8|

(B) I3—- W TS — i+ &1 wHA A
BT

(C) va ®1e &7 I YIHT — Yo iR Afewyar
BT

O) i A IR FFwa IFT - AR gh
AT |

YT e I G e 87

(A) B B BT P 98T — AR

(B) oyl § INTEl ARI B YT Yo —
HreRar _

(C) &Y wgel P 7T g B — P

(D) WY g&g T fiwar < — geawEd

o fawey 3§ it vreg T € —

(A) q, gof, arer, gog

(B) 31, 1o, UeTET, UG

(C) 31a%R, 3o, §, S¢

(0) GfereT, IR, T, T

fooer famed ¥ facim—gm argfr 87

(R) qT —

(B) A — anfay

(C) amifie — wfas

. (D) gomef — uxpef
" 100.

ﬁfﬁﬁﬁﬁ:‘\‘{?@mﬁfﬁ—ﬁi@‘c{ﬂﬁqﬁ
8?

A fo=fe = fag + arfe

B) 41 = 7% + oy

(©) S99 = 377 + oy
‘D’a‘ﬁ‘?ﬁ=3ﬂﬁ:+w

106_D TT
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